[ number of missing inner layers |

| —e— DQM_V0001_R000000001__Global__|
[Cmean hiy —— DQM_V0001_R000000001__Global

<hits>vs n

Ratio

107}

1072

1073

10

1 Entries 12720
El : : : : : + [ Mean 0.08947
F Std Dev 0.3145
e IR Entries 10074
F Mean 0.1092
N Sthev 0.355
E Entios 10037
F Mean 0.107
r Std Dev 0.3511
N S B
A -
FETE FETTY INETE FRTTY IRETI IT W0 FUUTE T P Fe

H

[ number of missing outer layers |

1e Entries 12720
- Mean 1.487
Std Dev 2.366
albe i - [
107 Entries 10074
E Mean 1.537
C Std Dev 2.389
C) I H S S
10 3 Entries 10037
F Mean 1.53
3' Std Dev 2.38
1072 g (AR A
1074 R
= S A S - S
10 e :
01()1.6¢""|"" L
2 o :
© F H
o 1A05_+ %
1Z—-+
E
0.95C
0

—=— DQM_V0001_R000000001__Global__]

mkFit_baseline
mkFit_var
|__mkFit_jcoreNoClean

...........................

10F--- 4o bt Ao
_+ ................ e T L
SR T b .o
r @ *
;—“-' ----- Feeeeenn P Feeeenes FEP—. '--
L SRSt RS S S B

2 3
track n
[ N of simulated tracks vs pT |
Entries 166514
—1] M 15.06
lo Slzalglev 59.62
Enme‘s 133376
s o O
E Emriels 133376
_ M 14.99
10°° N sgatr;lev 59.22
10—4 E_ ------------------------------------ ------------
L AL L b
.910_6“- s
S TR AT
d +++++++ ++++W-
0.95L 5 .
107 1 10 10? 10

10°

102

10

= 12720
r b 10.03
- Std Dev 6.201

B B |

E_ i Entries 10074
F: ] Mean 9.833
- " Std Dev 6.068
- "V [Entries 10037
— | Mean 9.827
3 *| std Dev 6.054

1073

10

10°°

1=
o b
I
o
0.8 -+ i Faapg TT oo LTI
0.6 --- : : L Trieeees
0 5 10 15 20 25 30 35 40

track hits

Entries 13348

Mean 16.25

Std Dev 65.27

.................. i

Entries 10615

Mean 16.23

ev 66.98

1

Entries 10565

o Mean 16.04
I R Std Dev 66.14

102

3
track p1 0



	Contents
	Page 1


